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x − 2

5
− x − 3

2
= 4.
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2x − 4 − 5x − 15 = 40.
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%� �����
��	 �
�
	 � �����
�
	 � 	 
 �� ������
��

� ����� � �
 ������������� �	 �
�
	 
���	 ���������	 �

������	 ��

<�� �	 ��2

√
−4·

√
−4 =

√

(−4) · (−4) =
√

(−4)2 = −4.

1�	 
 ��	 � � � 
 ������������
 ���
 �� � �	 ���	 ���
�
 ���

����
� �	 ��
√
−4 ·

√
−4 =

√

(−4)(−4)�	 �����


 ��
� �����
��	 �
�
	 �	 ��
√

a2 = |a|�5 
 ���� ��
����� ����� �� 
 �
��� ������������ � � ���
	 
������	 �����

�� 	 � � �	 ��2

√
−4·

√
−4 = i

√
4·i

√
4 = i

2
√

42 = (−1)·4 = −4.
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�� �� 5 ���� �
� ���������
�� 
 ������
�� �	 
 ����

�	 
�� ����� �
�	 �9 ������� � 
����
	 �����

x
2 − 8x + 15 > 0.

= 	 �� 
	  �� � ��	 �	 ����
��	 ����� �
�	 x < 3 �x > 5�

" �
�
�� 
 � �
��
���
 ���� 3 > x > 5�	 ��� �� 
���

������� ��� �� a > b �b > c ��������	 �� a > c�

��
��
� �	 �� � � � �	 
 �� 	 ��3 > 5 �� �� �� 
����

��

'�	 ���
� �	 
 �� 	 
� ����� �
�� ��	 ��2

x ∈ (−∞, 3) ∪ (5,+∞).

0 3 5

��
�� 
�

���	
�� �� 5 
 ���
� ���������
�� 
�
 �	 ���
�� �	 
 ����

�	 
�� ����

�� ������	 ���

(2

3
− 4

5

)

· 1

2
=?

" �
�
�� �	 ���
�� �� ��	 ��2

10 − 12

15
= − 2

15
· 1

2
= − 1

15
.
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A B

C

c

b

a
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�� ��


� " �
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�
��
	 ��
��� �
� ����� �
�� ����� +
��	 ���
���	 ��

�� �����- 
	 �����
�
� �
 �� 	 
� � ������ABC�%�

���� �	 �
�
	 � ���� 	 �����
�
	 � 	 ���� �� � ���

��
������	 �����	 
������	 ABC: �	 ��� � �
 �
��

����
	 �� �� 	 � � �
���������� �
�	 �

�� 8� 	 � � ��	 ����� �
�	 	 �� � � ��	 
 �	 �
	 �� ���
 	 �

�	 ���
	 �	 ����
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 ������
	 �	 
�� 	 � � ����� �
�	
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 �	 �
	 � � ����
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��	 ��������� � ���
�����
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�� ��


 ��
 �
��

c

b

a

��
�� ��

���	
�� �� �( �� �� ��� �	 �	 �	 �	 ����� �� 
 �����
�

������
������������ � ����� �
�����
�
�
������	 ���	 �� �	 ��
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	 �����2

m
2
x + m = m

2 + x.

% 	 ��
� �� ��	 
�	 �����	 � �2

(m2 − 1)x = m(m − 1).

" �
�
�� ���
���	 �
� 
 ��� �2

x =
m(m − 1)

m2 − 1
=

m(m − 1)

(m − 1)(m + 1)
=

m

m + 1
.

% 	 �	 �
� ��� �� ����� �
�� 	 �� ��m �= ±1�

7 ��
	 ����	 �� 
����� �
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�� 	 ����� �
�	 �	 m = −1�

��� �� � 	 �	 ����� �
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 ���
��

���	
�� �� &���� 	 �� ��� � �	 �� 
 ������� ����� 	 �	 
�	
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'2|AC| = |BD|, AB ‖ CD

� 2|AD| = |BC|�

�
1

�
1

A D' C' B

CD

��
�� ��

8� 	 � �2 △ACC
′ ∼= △BDD

′ ⇒ α1 = β1 �� 	 �

�	 2 (|AB| = |BA|, α1 = β1, |AC| = |BD|) ⇒
△ABC ∼= △ABD ⇒ |AD| = |BC|�

%��� ��	 � � ���	 �	 ���
���	 
���������2 	 �� �� ��	 �
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	 ����	 �
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	 ���

'2AB ‖ CD, |AD| = |BC|

� 2|AC| = |BD|�

!%
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A D' C' B

CD

��
�� ��

8� 	 � �2 △ADD
′ ∼= △BCC

′ ⇒ α = β �� 	 �

�	 2 (|AB| = |BA|, α = β , |AD| = |BC|) ⇒
△ABD ∼= △ABC ⇒ |AC| = |BD|� ��� � 	 �	 ��
���	 � ��� 
 ���	 
�

8� �	 
 ��	 �	 � � ���
	 �	 � 	 ���� �
�� �� �
��	 ��� ����

�	 
�� ���� ��
�� �	 �	 � � � 
 ��	 
�� �	 �	 �
����� ��

���� ��� 
��� ���� ������ �� � ��� �� ���
	 �	 �

> ��� ������ �� � ��� �� ���
	 �	 �� � ��
 � ��� ���
	 �	 ���

�� �	 ������	 �	 �� ���� �
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���� ���� ������ �� � ��� �� ���
	 �	 ��� ����	 ���	 �	 ��

�������
�2

?◦ M ∈ F ⇒ M �	 ������	 �	 �����U�

.◦ M �	 ������	 �	 �����U ⇒ M ∈ F�

���� �� F ���� ������ �� � ��� �� ���
	 �	 �	 M ���
�	 �

�� �
�� � 
 ��	 �	 ��
	 �������
�� 
 ��� ����2

���	
�� �� % 	  ��� ���� ������ �� � ��� �� 
 ������� �	

� ��� �����
	 �	 
� �����
� d �
����� ��	 ����A�B ����
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 � ��	 
�� 	 �	 
�� 
 �	 ��� ���	 �

����������

?◦ +M 
 ������� �� �����
� AB) ⇒ |OM| =
1

2
|AB| =

d

2
= ��
���

M ∈ k

(

O,
d

2

)

, M ∈ l

(

O,
d

2

)

+l / ���-�

+5 ���� �� ����� +����� ���- ���
�� M ����
 ������� ��

�����
� AB�-

M

B

AO

l

��
�� ��

.◦ &	 �	 �
�� � ���	 �	 ��2

M ∈ l

(

O,
d

2

)

⇒ M 
 ������� �� �����
�AB (|AB| = d),

k
′

(

M,
d

2

)

, |AM| = |OM|
(

=
d

2

)

⇒ α = ω

γ = 900 − ω
β = 900 − α
α = ω

⎫

⎬



⇒ |BM| = |OM| =
d

2

M �� 
 ������� �� �����
� AB (|AB| = d)�1	 ����� 	 �	

�� ���	 �	 
� �	 �� ��� l

(

O,
d

2

)
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M
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AO

l

d/2
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